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11. FindA’if A=| 5 2 6 |,
-2 -1 -3

' . 1 1 3 1 1 3
Soluttion. Wehave A? = AA = l: 5 2 6 [ 5 2 6

-2 -1 -3'[-2 -1 -3
T HD+1(5)+3(=2) 1(1)+1(2)+3(-1) 1(3)+1(6)+3(-3)
= 5(1)+2(5)+6(-2) B(1)+2(2)+6(-1) 5(3)+2(6)+6(-3) :|
[ (-2)1+(-1)5+(-3)(-2)" (—2)1+(-1)2+(-3)( 1) (-2)3+(=1)6+(-8)~3)
1+5-6 1+2-3 3+6-9 o 0 o
=| 5+10-12 5+4-6 15+12—18} [ 3 3 9 }
| —2-5+6 -2-2+3 —6-6+9 -1 -1 -3
S ro o o 3
A3=A2,A=[3 3 9‘ [ JCO\)\L
-1 -1 -3 -2 —
[ 0(1)+0(5)+0(-2) 0(3)+O(6)+0(——3)
- 3(1)+3(5)+9(— w(zng 1)’3_0 3(3+3(6)+9(-3) }
! (-1)1+(- @‘{N %»g) (-1 +( )( D (-D3+(-16+(-3)-3) |+

Q)( 0+0+0P 7 [0 oo
=] 3+15-18 3+6-9 941827 | = | 0 0 0 | =0,
| ~1-5+6 -1-2+3 -3-6+9 00 0J

: » 5 2 -1 5
12. Find the matrix X if (i) X[ - ] =[ ],
_ - -2 1 12 3_

-(")[521{ 21]'
w -21] '[5 10 |°

| 5 2 -1
Solution. (i) x[ ] .[ 5]
“l -2 1 12 3

a b |
Let X = [ ],the,,
v : c d

-1



